

$$Q. \int \frac{1 - \cos x}{1 + \cos x} dx \quad \left\{ \cos 2\theta = 2\cos^2\theta - 1 = 1 - 2\sin^2\theta \right\}$$

$$\therefore 1 + \cos x = 2\cos^2\theta/2$$

$$\& 1 - \cos x = 2\sin^2\theta/2$$

$$\text{so: } \int \frac{2\sin^2 x/2}{2\cos^2 x/2} dx = \int \tan^2 \frac{x}{2} dx = \int \left(\sec^2 \frac{x}{2} - 1 \right) dx$$

$$\rightarrow \int \sec^2 \frac{x}{2} dx - \int 1 dx \Rightarrow \frac{\tan \frac{x}{2}}{1/2} - x + C = 2\tan \frac{x}{2} - x + C$$

H.W

$$\int \frac{\cos x}{1 + \cos x} dx$$

$$\left\{ \cos 2\theta = \cos^2 \theta - \sin^2 \theta \right\}$$

∴

$$1 + \cos x = \frac{2 \cos^2 \frac{x}{2}}{2}$$

∴

$$\cos x = \frac{\cos^2 \frac{x}{2} - \sin^2 \frac{x}{2}}{2 \cos^2 \frac{x}{2}}$$

$$Q. \int \sin^4 x \cdot dx$$

$$\left\{ \begin{array}{l} \cos 2\theta = 1 - 2\sin^2\theta \\ \sin^2\theta = \frac{1 - \cos 2\theta}{2} \end{array} \right.$$

$$\text{Sol}^n:- \int \sin^2 x \cdot \sin^2 x \cdot dx$$

$$\because \sin^2 x \cdot \sin^2 x = \left(\frac{1 - \cos 2x}{2} \right)^2 = \frac{1}{4} \left[1 + \cos^2 2x - 2\cos 2x \right]$$

$$\because \cos 2\theta = 2\cos^2\theta - 1 \Rightarrow \frac{\cos 2\theta + 1}{2} = \cos^2\theta$$

$$\text{So!} - \frac{1}{4} \left[1 + \frac{\cos 4x + 1}{2} - 2\cos 2x \right]$$

$$\text{So} \rightarrow \int \frac{1}{4} \left[1 + \frac{\cos 4x + 1}{2} - 2\cos 2x \right] \cdot dx \Rightarrow \frac{1}{4} \left[x + \frac{\sin 4x}{2 \times 4} + \frac{1}{2}x - \cancel{2} \frac{\sin 2x}{2} + C \right]$$

✓

M.W

$$\int \cos^4 2x \, dx$$

$$(\cos^2 2x)^2$$

$$= \left(\frac{1 + \cos 2(2x)}{2} \right)^2$$

$$\cos^2 4x$$

formula

Q. $\int \frac{\sin^2 x}{1 + \cos x} dx$

∵ $\sin 2\theta = 2 \sin \theta \cdot \cos \theta$

$\sin \theta = \frac{2 \sin \theta}{2} \cdot \frac{\cos \theta}{2}$

∵ $\cos 2\theta = 2 \cos^2 \theta - 1$

$1 + \cos 2\theta = 2 \cos^2 \theta$

$1 + \cos \theta = \frac{2 \cos^2 \theta}{2}$

∵ $\sin^2 \theta = \frac{4 \sin^2 \theta}{2} \cdot \frac{\cos^2 \theta}{2}$

Intg. → $\boxed{x - \sin x + C}$ ✓

So: $\int \frac{\sin^2 x}{2 \cos^2 x / 2} dx$

$= \frac{1}{2} \int \frac{4 \sin^2 x \cdot \cos^2 x}{2} dx$

→ $\int \frac{\sin^2 x}{2} dx = \int \frac{1 - \cos x}{2} dx =$

II → $\int \frac{(1)^2 - \cos^2 x}{1 + \cos x} = \int \frac{(1 - \cos x)(1 + \cos x)}{(1 + \cos x)} dx$

$\int (1 - \cos x) dx$ ✓

$= x - \sin x + C$ ✓

$$\underline{a.} \quad \int \frac{\cos x - \sin x}{1 + \sin 2x} dx = \frac{\cos x - \sin x}{\textcircled{1} + 2 \sin x \cos x}$$

$$\Rightarrow \frac{\cos x - \sin x}{\sin^2 x + \cos^2 x + 2 \sin x \cos x} = \frac{\cos x - \sin x}{(\sin x + \cos x)^2}$$

$$\Rightarrow \int \frac{1}{t^2} dt = \int t^{-2} dt = \frac{t^{-2+1}}{-2+1} + C$$

$$\Rightarrow \frac{-1}{t} + C = \frac{-1}{(\sin x + \cos x)} + C$$

$$Q. \int \tan^3 2x \cdot \sec 2x \cdot dx = \int \tan^2 2x \cdot \tan 2x \cdot \sec 2x \cdot dx$$

$$= \int (\sec^2 2x - 1) \tan 2x \cdot \sec 2x \cdot dx$$

$\sec 2x = t \Rightarrow dn = dt$

$$\Rightarrow \sec 2x = t \Rightarrow \sec 2x \cdot \tan 2x \times 2 \cdot dx = dt$$

$$\Rightarrow \sec 2x \cdot \tan 2x \cdot dx = \frac{dt}{2}$$

$$\Rightarrow \int (t^2 - 1) \cdot \frac{dt}{2} = \frac{1}{2} \left[\int t^2 \cdot dt - \int 1 \cdot dt \right]$$

$$\Rightarrow \frac{1}{2} \left[\frac{t^3}{3} - t \right] + C = \frac{1}{2} \left[\frac{\sec^3 2x}{3} - \sec 2x \right] + C$$

Q. 3

$$\int \tan^4 x \cdot dx \quad \rightarrow \quad (\tan^2 x) \cdot (\tan^2 x)$$

↓

Q. $\int \frac{\sin^3 x + \cos^3 x}{\sin^2 x \cdot \cos^2 x} \rightarrow$ separate

Q. $\int (\cos 2x + 2\sin^2 x) \cdot dx$

$\int \cos^2 x$